Efficiency vs Dxy(PV)
0.5

o [

efficiency vs dxy(PV)

o
S N 9O w 2 »

)5 =20-15-10 =5 0 5 10 15 20 25

0
TP dxy(PV) (cm)
—— DQM_TT_OTJMalREDT
—e— DQM_TT _signal_option0
—— DQM”TT"signal”optionl
—— DQM_TT__signal_option2
— —— DOQM™ original_option0
[ Efficiend == b [original_option1
< 0.5

&
i

efficiency vs dxy(PV,
o

o
-

0951 050.6-

(=]

Efficiency vs Dz(PV)
0.5

o

efficiency vs dz(PV)
o

o
S N O w 2 »

o
[

o
o
a

T
T

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)
0.5

N

o

efficiency vs dz(PV)

o
©S N 9O w 2 »

e —
N
—t

-1 -0.5 0 0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


